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QUESTION 1

Which of the following is an expected result of successfully adopting SOA? 

A. A natural increase in runtime performance that you will gain as a result of the fact that service compositions will often
be comprised of a greater amount of individually participating programs (services) than traditional distributed
applications. 

B. The fact that the existing IT organizational structure will not have to change because of how well a service-oriented
enterprise fits into traditional IT departmental structures that are focused on project-centric application delivery. 

C. The tactical (short-term) focus of service-orientation, which allows for the initial rapid delivery of services without
concerns about their subsequent governance. 

D. The strategic (long-term) target state that is attainable when many of the services delivered are interoperable and
reusable, thereby allowing for them to be repeatedly composed in response to new and changing business
requirements. 

Correct Answer: D 

 

QUESTION 2

Service-oriented computing aims to increase an organization\\'s responsiveness by allowing it to adapt to change more
efficiently and effectively. This is known as: 

A. organizational diversity 

B. organizational agility 

C. organizational federation 

D. organizational interoperability 

Correct Answer: B 

 

QUESTION 3

Service A is invoked by Desktop Application A, which requests a data value from Service A. In order for Service A to
retrieve this data value, it must invoke Service B, which retrieves the value from Database A. Which participant(s) in this
scenario are considered service consumers? SELECT ALL THAT APPLY 

A. Service A 

B. Service B 

C. Desktop Application A 

D. Database A 

Correct Answer: AC 
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QUESTION 4

Agnostic solution logic is logic that is considered single-purpose because it is unique to one task. Select the correct
answer. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 5

Service A invokes ServiceB. Service B invokes ServiceC. Service C invokes both Service D and Service E. In this
runtime scenario, which services are acting as service consumers? 

A. Service A, Service B, Service C 

B. Service D, Service E 

C. Service A 

D. None, because a service cannot also be a service consumer. 

Correct Answer: A 
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